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T4 | BEARS 75 W= N URVHE LKA TH

TEHEX Sy - THE - R B {7 % & A bl A iR
Aot = 425,761, 981
EhdE T 2 407, 245, 141
2y - MfidE T = 401, 066, 956 | - Jm= & (HHE - B JE #1) 33, 260 m2
WP A IR BEMEA 1 LV JE 150mm ;
BRI ) - Mk 31, 430 m2
Hi1F4. 5-4. 0-40 (B4F (B)) &H%EE 250mm ;
A1 E Hi 5, 882 m
TEN B H1 (10 X 40) (KA - B Hithk (10 X 210) £Z4R
Jits T B 43 B
D16 X 1000 Bhgsa" v M ;
2y - MfidE T = 3,973,052 | _LJE A (BLiE - B IE ) 250 m2
WP A IR BEMEA 1 LV JE 150mm ;
2 - M2 250 m2
#1174, 5-6. 5-40 (B4F (B)) &HEE 250mm ;
A1 E Hi 242 m
TEN B H#1 (10X 40) (KA - B Hithk (10 X 210) £Z4R
foE B Hh 240 m
BN H HubE (10 X 40) {EBIE |
VRIS 2 1,580,531 | k- J& Az (B3 - B T 56) 109 m2
Wi A IR BEMEA 1 LV 150mm ;
2 - M % 103 m2
#1174, 5-6. 5-40 (B4F (B)) &HEE 250mm ;
REEZAR B 21 m
T H HE (20 X 40) =38 - H HIAR (20 X 210) 4
VRIS =X 624,602 | I J& AR (FE - B ) 55 m2
BIFHFe A K HEARAL A E V& 150mm ;
/) - Mg 52 m2

Al 4. 5-6. 5-40 (B JF (B)) #HZE/E 150~200mm
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TEHX4y « Tfd - FER & #A iR
B Gbt A 10 m
N B #b (8 X 40) Bk
A T =Y 18, 516, 840
B REE T = 18,516, 840 |27}k 543 m3
18-8-25(20) (&) ;
[ERAE Xy = 425,761, 981
HiE R = 37, 855, 800
BISTIGE: = 3, 795, 800
TERE = 167,000 | % i bl i 2y 1 =
HeffrE sy = 478,800 |FefJR LikSWVE & FH 1 F2V
TE R AT -IMERE A 1 =
BGRESGESE (5 L) = 3, 150, 000
B (FEHL) = 34, 060, 000
T = 463,617, 781
Bl gy = 106, 952, 000
T =5l = 570, 569, 781
— R A = 76, 220, 219
TS = 646, 790, 000
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